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Instructions
! Use blue or black ink or ball-point pen.
! Fill in the boxes at the top of this page.
! Answer all questions.
! Answer the questions in the spaces provided.
! In Section A answer the questions in Bengali.
! In Section B answer the questions in English.
! Write neatly and put down all the information you are asked to give.  

Information
! The maximum mark for this paper is 45.
! The marks for questions are shown in brackets.
! You must not use a dictionary at any time during this test.

You will need no other materials.
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SECTION  B

Questions and answers in English.

10 Read the following passage and answer the questions below.

(a) Describe a typical scene in some of the streets of Dhaka in December � January every
year.  Mention two things.

1 ..........................................................................................................................................

2 ..........................................................................................................................................
(2 marks)

(b) Why has admission to a new school become a problem in Dhaka?

.............................................................................................................................................
(1 mark)
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(c) In what ways do the private schools exploit the parents?  Mention three things.

1 ..........................................................................................................................................

2 ..........................................................................................................................................

3 ..........................................................................................................................................
(3 marks)

(d) Why do pupils sometimes face difficulties when they move schools?

.............................................................................................................................................
(1 mark)

(e) How is the government trying to improve the way schools should be run now?
Mention two things.

1 ..........................................................................................................................................

2 ..........................................................................................................................................
(2 marks)

END  OF QUESTIONS
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